Mpumep. 1

PaccuutaTtb napameTpsbl CXeMbl 3amMeLlleHuns ANEeKTpUYecKom
U=115 kB
L=40 km
AC-240 PH=28 MBT
cos ¢=0,9

TPOH-25000/110

CnpaBoOYHble JaHHbIE:

AC-240 (Ha knacce HanpsikeHua 110 kB)

Ro=12 Om / 100 Km;

Xo = 40,5 Om / 100 Km;

Bo=2,81-10% Cm/ 100 km;

APyop(xop.nor) = 0,031 kBT/kM; APop(noB.Bn.)=0,075 kBT/km; APwop(8oxab) = 0,160 kBT/km;
APy:(BN<90) = 0,055 kBT/km; APy:(Bn1>90) = 0,510 kBT/km; APy:(Bn1=100) = 0,85 kBT/km

TPAOH - 25000/110
Siom = 25 MBA; Ushom = 115 kB; Unrow = 10,5 kB;

APK,s_ = 120 KBT; Uk,%=10,5%; APx,x, =27 KBT; ix,x,% = 0,7%

Cxema 3amelleHuns:
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Pac4yeT napameTposB:

Xo:L __ 40,540

Ry'L 12-40
R1_2 == = 2,4 OM, X1_2 = = = 8,1 OM,
n 100-2 n 100-2

1 1 2,81-107% -
By =Byy=-'By-L-n=2-222%".40.2=1124-10"% Cm;

2 2 100
APKOp.Cp — APKOp(Xop.HOF)+APKOP;HOB.BH)+APK0p(ﬂ0)Kﬂb) — 0.031+0.275+0.16 — 0,089 KBT/KM;
AP _ APyT(BJI<90)+APyT(BH>9O)+APyT(Bﬂ=100) — 0,055+0,51+0,85 — 0'472 KBT/KM;

yr.cp 3 3

CeTn.



_ APyop.cp+APyr.cp _ (0,089+0,472)1073
UZou 1152

G, = 0,042 -107% CM/KkM;

Gur = Guz =5 Go-L-n==-0,042-1075-40-2 = 1,68 107 Cwm;
le = sz = (1,68 +]112,4‘)10_6 CM

TpaHchopmaTopHas BeTBb 2-3:

Rr _ APy3 - Ugom — 120-103-1152

R, ;s =— = 1,27 Owm;
273 T, N SZou 2:252 ’ !
X _ X _ Ukop Uion _ 10,5:1152 — 2777 OMm:
273 T, T np100:S40,, | 2:100-25 ’ ’
APy 27-1073 -6 .
Gy =n,"G, =n," =2 T = 4,083-107° Cwm;
BHOM

Iy x9S 0,7-25 _
By, = n, - XXMM — 9 = 26,465-107° Cm
100-U2,0p 100-1152

Y,, = (4,083 — j26,465)1076 Cm




